® k¥R

e WING HANG BANK, LTI

i Y A BT
R e 2004 & 4 E| 1 FI 2004 & 4| 1 1@
ERaSTE - YR SR Y RIHES60 | 5907 I RIHTS80
F L EEEY HIRVRIS IR | DI LR O
i qsrﬂvf;%fa'%fw1oo B S
WL FEL ] ﬁi, $100 33 FEU o
F‘t?‘ﬁﬂﬁﬁ&ﬁiﬁfﬂi e f R EUETR AL
ATATEL (ViR E D | SRR (Vi
N8R (FEL) %E‘T fﬁﬁ) Jp%f (FED
ﬁﬁ 7
HIRF AL RP IR
ST S
$I3 WAL FHIE S
B RRUETRUF =R [
%wmiﬁywﬁ (7
HEHE) PR (#
RO FHET -
TEL 524 B USTUMESS0 5 | 5 F I SUIMESTO Y
- PR GRt LS S | Sl ST EE
1] 68 (S RS, 500

EHS ‘/gw*l (=
1?:%"},_[/* It '}Hfﬂti =
trVYFI

SRR VR
HEP

S R

FXED 0.25%

R AR ﬁj FEL 1 T | R D A | R 025%
’_F’rl* [&J/
CEEEIRE T Tl HEAFS100 75 3Tl LA
T Eﬁj Ep k| ??V?%Fffﬁcﬁo B4 llif?viﬁf’?’fwo 59
- KR 3 At SR %‘v@%ﬁr
p Jn?ﬁ%ﬁﬁ"?ﬁf’%l (gOO
, AN [/% i }{1%&?&
%+ ﬁ*"wF
o % YHISB 1F 59795 HIHESL0
(& I’SL 57'9$20) (f fi%ﬂ 57'9$200)
W BRI /BT | B D20 (17850

=S




A F R &

IZ- 1I
k@' WING HANG BANK, LTTL

TP bl

HHT$50)

RTa 3| 2004 F 4 E] 1 FI 2004 % 4 E| 1[1@&
f’/fjfﬁt Al 5312’1<71‘ff?5f%' B = %%i%Fff?ﬁSO 3] 5??%%@50
S L B EE 5w i%Fff?T$30 5 j’?%FJFPJ‘%O
Pt R [l
- IEREE UL b f$50 - 1177960
- WA RER YD B S50 - H$60
SN ESRY e nE I ﬁé&ﬂ/ 0.20% (& | - %Fi&‘g;‘/ 0.20% (f&[%
a7 b HMES50 ) YRES60 )
SPIFE ARSI A | - Féijéﬁi/ 0.32% (% 'é’éﬁ;‘/ 0.32% (& (%

)

Wep /| fﬁ[ Sl
- JPRERAV D B
- W L b

PRSI

F‘ NEY

- PRSI S

T bl

- EWTMO
- B340
- ?:F&éa;‘/ 0.20% (%
HA$40)
- FF{‘»{?EJ/ 0.32% (%
i%Fff?TMO)

-ﬁ$ﬁ7$50
- HE$50
- %T‘?&'&Eﬂ/ 0.20% (&%
HM$50 )

"E[iéﬁ;‘/ 0.32% (f{%
HE0)

'] CHATS = 5 (i
T/ F T HEE) A

BRI ALRF AT

- GBS b f;$100 - %ﬁﬁj‘$120
- R R b - HF$100 - HMP$120
SRS I E SR 1F4£§JJ/ 0.20% (% | - %?F&'&E;‘/ 0.20% (f&[%
F ijl 3 H$100) HE$120)

PIF AL |- FFQA?EU’ 0.32% ($&(% "E[iéﬁ;[/ 0.32% (f(%
A HHE$100) HH$120)

B Rss T2
CHCH R - DA VR | - DI L R
$60 $100

-BIRFAY E—'ﬁ\?“
$12

el i 4 =L R Tl JM%FF‘VLE'?%W‘
$40
@“l ]
L fi M 5 gF; - &) fﬁi%Fff?TMZO - &) 5 150
S - Pl -5 l'ﬁ?%FﬁT$150

i

R R (Ghfy 500
)

HREREY 1% (RS
HH$50)

RS 2% (RS
wis0)

PRI 7

Ep

- R HS200

- (BB BTS2 (S
ki T iggeato)
| IR Gl | 2004 % 4F] 1F1f] | 20045 4F]1p1@ |




® k¥R

=2 WING HANG BANK, LTI

i

=

HIVER A aRT Y| N/A = j’?ﬁfﬁ?ﬁél 0
— PR Ry
s




		2004-02-23T09:44:45+0800
	eddiefok
	<none>




